Sectian Bl SoluTiams

Section 8.1: Systems of Linear Equations,
Substitution and Elimination

#1-6: Verify that the given values are solutions
to the system of equations.
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#7 — 20: Solve each system of equations using
the substitution method. If the system has no
solutions say, that it is inconsistent. If the
system has infinitely many solutions write your
answer in the form

{(x,y)|y = mx + b, x is any real number}
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|5"’. So\WE Top EQuhtich For Y

Y-29: 1
129 +TY

X = T

2n0 - SuBSTinre, Ano ATTEIMPT 76
Slve For 9

d(39-7) -4y =-3
Hy-14 =49 -3
~1Yy>-3

All e Hers Oropper ovr. & AM
Fiaishen with ™9 RAl9e8RA.

Swie R FAISE STATIW™ Remana,

,pﬂy‘”“: No Salulan
OR TaccCaSisrén




4x+2y =6
17) 12x+6p =15
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4x+2y =6
19) 12x+6p =18 .
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#21 - 36: Solve each system of equations using
the elimination method. If the system has no
solutions say, that it is inconsistent. If the
system has infinitely many solutions write your
answer in the form

{(x,y)|ly = mx + b, x is any real number}
(To do this solve either equation for y.

b e
21)L2x—y=5) 2

151 Mo T:ply Rotterm Eavahién 8y 2

Ix+ 2= M
Q=292 16

200) R0 Tod2Ther,Qrep 9 , Solve Foe X
Aray 2l

Yx-24:1o
‘7x/7=zc/7 A3
o) So\VE Rery

IRe2y N
K€ RXAHL]]
eyl




4x -2y =1
H(2x—sy=-3 ) "1¥XHoy=0

ST MUETiOY BoNem Touatidn B9 (-2)
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\S. 53)(4 ‘3'-%5 2 159
%x.‘. “5-25 . 75
20% +39 275

200 STAck S GuaTiovn/

CoX 439279
3 (X 3a-2

%0 Mooy Berom By >
0{@’ g / Solve X,



P Conclupen

%O\( +3y 275
X- FY-=-

3¢y &
23 23
xs 3
LN Se\ve Foe 9
20X 439277
20¢3) 4393




—S(x—2y=7)

31) 5x-10y =-3
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37)

. o A B |
2=y z==21
S LYz =19
(pair the middle equation with the other 2 and
drop out the y’s)
orep |
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~%-32=-1
TA+3E = 6
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R=T
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39)
2x +y—5z=-11
—x+y+2z=7
x—3y+z=-2
(pair the middle equation with the other 2 and
drop out the x’s)
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41)
ax +2y—2z=2
x —3y+z=-28 startanyway your like
—x+7y +5z =24
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X~ 3<<a)+a=«92‘:
x-);a‘-\+&= 8
282 * 8
— X2-6

Roswer (-6 8,2)
8,2



43)
4x + 4y + 4z = 12
4x — 2y — 8z = —12 start anyway you like

sigce—(l)-iy + 8z =21
PAit Mi00le wit otner +wo, Orop 2

Hx-29- 82=-12 %29 -82=2-|R
(‘-\ N4y +42= IZ) [ 5 SAAINt 222

. AR+Y = 9
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45)
2x —2y+3z=6
4x —3y+2z=0
—2x+3y—7z=1
« (pair the bottom equation with the other 2

\s
5“' and drop out the x’s)
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47)
2X+y—z=-12
X2y —g=+9
x—4y+z=1
_ (pair the bottom equation with the other 2 and
step! drop out the z’s)

R-Hy+2= | X"y +2=1
2R+ 3-2 -2 R43Y. 29
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49)

x—y—z=1
EXF Ly =37 = +4
£ ) et 5 et 2§

(pair the middle equation with the other 2 and
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X
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xX+2y—2z=8
=X=~ay+z=123
x+y+5z=39

\ (pair the middle equation with the other 2 and
5\“ drop out the z’s)
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So\ve For X
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